English Language & Grammar Name f'jﬁ!&?w Ao

3RD EXAMINATION

Lloyd Gramadeg
Forensic Grammarian

I. SENTENCES

Find the complete subject and underline it once; that is, underline the subject plus associated
modifiers. Find the complete predicate and underline it twice; that is, underline the main verb plus
auxiliary verbs plus objects or complements plus associated modifiers, If you are uncertain whether
an introductory phrase or clause modifies the remainder of the sentence or just the predicate alone,
underline the phrase or clause twice. Every part of the sentence should be underlined one way or
another (unless there is an interjection). 1 pt. each

1. Listening to grammatical fanatics as they droned on and on about the decline of the

English language always gave Lloyd Gramadeg a bad headache.

2. Lady Williams, the elderly, refined woman sitting in front of him, had made opening

complaints about I versus me and now had settled to the real business at hand,

3. “Iwould like to inquire about your availability for grammatical training among my

workers.”
e T —
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4. Even though he was pretty sure that he knew the answer, Lloyd, whom others

sometimes accused of being passive aggressive and who really did have a very bad

headache, asked “How many employees do you have?”

II. ACTIVE AND PASSIVE VOICE

Identify the voice of the main verb in each sentence below, then rewrite the paragraph reversing the voice
used in each sentence. You do not have to use every word in your revised sentences, but the general sense
of the original main clause must remain. Just change the voice. 1 pt, each

“Because if you have less than three, you should have said between.” A short exhalation
of breath showed that Lady Williams was offended. The conversation was quickly
shifted. “Can you explain the proper use of good versus well?” That old chestnut

thought Lloyd, smiling as he formulated his answer. This last one is tricky, careful.

5) Voice of 1st A ebwe

6) Voice of 2nd A bve

7) Voice of 3rd Passwe

8) Voice of 4th /4 th vE

9) Voice of 5th A Qél vE
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“Because if you have less than three, you should have said between.” A short exhalation of breath
showed that Lady Williams was offended. The conversation was quickly shifted. “Can you explain the

proper use of good versus well?” That old chestnut thought Lloyd, smiling as he formulated his answer.

10). Becayse i yo have [ess {hon hogee, bebueew shoyld fave
L

b
heea) BHa kj oM o)

11)_Thet Z.cpc)?! Whllioms WHS g{?ﬁgﬁié&% Wes Shousnd é% a
Shorl echelebon c:?f breathe,

12) Locsk; Li) g!@mw ?u aﬁiwéi? ﬁ»;m £€§ ‘%ﬁ/ é’@mﬁg‘w%&%ey«é
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S

14) 7\@{ o]0 chestrul WS fféifw
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III. PREPOSITIONS AND PREPOSITIONAL PHRASES

Place parentheses around all prepositional phrases in the following sentences. Draw arrow(s) to the
word(s) each phrase modifies. 2 pt. each-

Y

15) @f ith clear detaﬁ} Lloyd explamed that either word could be fo?r\ﬁ in proper us f}

@ythebestgrammanans) o et
, T alsn oifn M f{“\é

16) Wellis an adverbiin the sentence “I am well”;Jand the common traininglamong

generatl%;l of school children has been to view this as s correct usage. }

s

For 1 extra point explain the grammatical function of the clause “I am well” within the wider clause,

P
grammarlarll)lt is easily 1dent1%?,d<s a predlcate ad)ect%% modlfylng the subject. >

NP ot e A

18) Itis true hat well suggests a connotauon{ f healt%so when someone is clearly

™
making friendly conversation and you are feehng top{f the mornm% good isa

, %3
perfectly acceptable and grammatically correct answer{fgr most occasions. |
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IV, VERB OBJECTS ¢ COMPLEMENTS

Identify the verb object(s) and complement(s) in the following sentences by underlining and writing DO,
IO or OC or PA or PN above the appropriate word. If there are verbals or verbal phrases functioning as
verb objects or complements, identify them as noted above, If there is more than one clause in a sentence,
identify the verb objects and complements in each clause. If dependent clauses function as verb objects or
complements, identify them appropriately. Stay alert; most of these sentences are tricky. 2 pt. each

IMJC P aQ DO

=
19) Smiling wryly, Lloyd watched Lady W. stride from his office in a considerable

NN Nl ST T ST g AN

huff.
5 w PA w o PA
Chough his social graces were Weakjhe kneWElat his work ethic was strong,
W ¥ You cew
A - a  m dest be
21) He stood tood up and pulled a legal brlefghﬂat needed attentlo]from the top drawer of a  ‘tes Pl
— e C Qs;:wsf ad
£ N\ = oc, I
file cabinetEhich stc‘)%ifi nearby.] gusl vrer ke
. AV Do
22) The legal ﬁrrn(;f Kowalski, Larkin, & Zlmmeg had retamed him, askmg@mt he
T NoA A At
A DO
render an opinion Wu@d Jportion of an unusuaiﬁir}ﬂ
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15

AV N\

23) First, he read the note from Robert Kowalsk1 ho was senior partner gt the ﬁrm)

PF\?
and Lloyd’s boyhood friend.

AJ DO PN
24) “Our firm is representing the beneficiaries gr’ho are the children of the deceased

>
I

policy holder.” ]

5 DO
25) “That policy holder, Tad Lightford, had taken out a rather unique plece( f

M

insurancejthat stipulated a payout{;; the slim chanc%)f a shark attackjthat causes death

@1 a fresh water lake}ﬂ

AV G Pao DO A TO DO
26)\Before/he had finished reading the note]Lloyd gave his memory a jog and

i st SRR,

S

DO
remembered six-month-old headlines|that described a terrible accident involving an

aquarium delivery gone wrong and a very old bather out at t Sunny S Slde Lake. j
MWW

R et MR wﬂ‘ T, i
PN N e
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fW

PN PN 50~
27){As tho g jlt were a daily occurrence,[x:rhlch it was,jiLloyd plcked up the brieflegal
/jﬁﬁfl T fjj A DO

document and began to parse its contents.
ey &%Aﬂﬁp\wﬂw o W%WMWY

-—« apamss SR

T waf’ {
28) é)pon accidental dea‘{fﬁ' fthe 1nsure<) caused by shark attack in a body of fresh water )
g

P O e B T e

AN DO \
the beneficiaries will be paid an annuity worth $50 OOOG)r each yea?é)f Iif91 and this
e _ - Ok f&i‘

/jr 7Q ¥ L;/M% , B 1de r”“ 4
agreement shall admit no modification{other than the phrasing hereby agreed to eo  Prepoubii

N — ? .
20— by Awes. fififf
AV . AT \\J Dicko- oty
29) Lloyd glanced t the actuarial reporﬁ and saw| hat Tad had been ninety-seveni hef?
— p—— @ WL
o DO R
the shark g}yg hlmj ‘L; }"‘{?\i{“ ¢ ;
Plesess . » 'D O . TvE. = /‘!;)%,t
g e . follpued =
{ g LV PR k “; i,
30) That meantha ) the insurance payout was four million eight hundred and fifty FM" oot fron)

[

L\)é o ,é‘ué

N

novel grammatical reading of the policy.
[
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32. They had retamed Art Magicam, a grammanan(f some reputg, 1gh

Teh

P

/N
believed his skills were slippery at best.

For 2 extra points identify the clause “though Lloyd believed his skills were slippery at best” as

subordinate or relative and explain its grammatical function.

j/\a [avse & @(@@ﬁ b dbgond wd Te . Some éﬁgﬁ(‘th@ﬁé} { ad advefYe é;
éﬂ;é"‘f 5 h sz rg{m‘“’:b O g)@'«‘w S8 (% fﬂf’*é {é/ ﬁf mwfu?f;ﬁ
s e @@ﬁ g“’wz) %gég ﬁﬁ}é(’( éj’ﬁ,&w"{j ' Agﬁfﬁ?ff@ﬁ 5@?"5’% At s,

4 +36= S7

b

7 e [ 7 7'1\ &
g+ 7+ St et 24 [ /M
[ ()

© Fall 2013 ‘ 8




English Language & Grammar Name

3RD EXAMINATION

V. VERBALS ¢ VERBAL PHRASES

Identify the type of verbal(s) or verbal phrase(s) underlined or italicized in the following sentences.
Clearly identify each as its appropriate verbal or verbal phrase. 1 pt. each

G pact Pk«maﬁ

33) Magicam had given a literal reading to the policy, advising the insurers as follows.

wa:p? ¢ Tuf nheese

34) To understand this novel reading, one had to focus upon the final clause of the

agreement: “this agreement shall admit no modification other than the phrasing hereby
\/\.,AMM
%@% éf

agreed to.”

W

_ \\f@“‘é)'&’” P gpmﬁ“{fif

1 bonus point if you correct the phrasing mark-up error in sentence 34. 3&@1“ 0 ,’W\s@%f ,

Port pheese
35) Stipulating that “$50,000” modified “worth” and that “each” modified “year,” and

ot Af“ n Ar LA
stating that the agreement a/llowed no “erammatical” modification other than in

phrases, Magicam made his case.
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,@? Twef- P

Gerund I 4 o
36) This Waygf interpreting the documenﬁlmade it really mean the follow#&. 3 CRUNG

~=f

Note the two phrases plus the verbal in bold italics.

In the sentences below, underline and identify all verbals and verbal phrases. Clearly identify each as a
verbal or verbal phrase. SHOW OR TELL HOW EACH FUNCTIONS. 2 pt. each

37) “The beneficiaries will be given an annuity worth for year of life” MoNE

[ heose C,gm,w) »‘)k;@ ,;f Ol eecd {Pm/x@fw@
38) Smiling at Magicam’s folly, Lloyd paused@fore reading the rest the argument) 3

M A ot st P S e Y g

P s~ P I et p
39) “With all single modifying Woxga‘s deleted the only d1ff1culty remammgﬁn the
MNP M—-«W’L

’P Ger P’ agy D P
resultn@ence)remdes n the meamngéf year)

P Y

40) “Obviously, yeé?’és a singular noun, and admlttmg no amb1gu1t , is equivalent to

a year or one year.”

EEQ M R maths ‘
N A, "t
inc no paymen(y ye‘%ﬁ is asmgned to this corrected agreement we the sald K elgdrepd
g S, _7( e

Pt SO
insurers state that Tadd nghtfoi’? having signed this pohcy Wlth the clear 1ntentVn to E:M»F P
e e z

R e T P i SR \%w e

. Ww
benefit his family, should be paid the equivalent of his final year’s income.” ity A9

s AR5
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—

W‘w%&v&mw

Y % P j
e
hat he four}g}and calculated that the final year’s income of the retired saﬂ maker was

i)

I W i o AT S
Y
a demoralizing $174.

this sentence is worth four points

VI. CLAUSES

Identify the dependent clause(s) underlined in the following sentences (relative or subordinate) and
THEN DESCRIBE THE FUNCTION OF EACH WITHIN THE SENTENCE, for example as subject, direct object,
indirect object, adjective, adverb, etc, 1 pt. each

43) After he had read Magicam’s brief twice through, Lloyd scratched a few notes on a

notepad and began to construct his rebutal.

IDENTIFY THE CLAUSE: Sl gb (WATE

g
NAME OR DESCRIBE ITS FUNCTION: AC} \[ f iiz Lo
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44) He could think of two grammatical analyses that easily countered the argument.

g
28 + o
IDENTIFY THE CLAUSE: Eﬁé&% 5

.
NAME OR DESCRIBE ITS FUNCTION: /:? é )

45) First, he could argue that “worth” is a preposition and as such must have an object;

if this were true, the $50,000 would be that object, not some modifier and would remain

the price noted in the policy.

IDENTIFY THE FIRST CLAUSE: 5 v by 2o IWATE

NAME OR DESCRIBE ITS FUNCTION: N éu \J 2 J&J @

IDENTIEY THE SECOND CLAUSE: 50 bog O aATE
AN o i; /
NAME OR DESCRIBE ITS EUNCTION: %7? Avef o 5“*‘{”‘

46) If, on the other hand, he accepted Magicam’s logic about not being able to use

modifiers and if he also agreed with the editors of the American Heritage Dictionary,

then Lloyd noted that, in fact, worth is adjectival, not $50,000.

IDENTIFY THE CLAUSE: el bow Q) 1 ATE

Vodb ol
NAME OR DESCRIBE ITS FUNCTION: 14@ A ‘:@!” et

IDENTIFY THE SECOND CLAUSE: 5() (96{2 9 A fﬂ‘bﬁé

NAME OR DESCRIBE ITS FUNCTION: Up 4 l’j l\j 3 E) {’}
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- 47) Under this scenario, $50,000 would remain in the policy as complement to

annuity: “the beneficiaries will be paid an annuity $50,000.”

f} c (@ Vi

Ir\ié}b”lf?f’“s ,

IDENTIFY THE FIRST CLAUSE:

. ol
NAME OR DESCRIBE ITS FUNCTION: Kﬁ“’? e \”@ / U)lm‘g ¢ @m»& by

Lot W SOV M’? L bty mt

N 7

For 1 extra point describe how the underlined clause in sentence 47 differs from the other clauses in this
segment of the examination.

Tede i, i ) xb AT e gﬁfg | ?{;‘:\f%’ ;é

Identify any dependent clause(s) in the following sentences as relative or subordinate. Place them in
brackets and then DESCRIBE THE FUNCTION OF EACH, for example as subject, direct object, indirect object,
adjective, adverb, etc. The number of lines below each sentence accurately signals the number of depend-
ent clauses that you should find. 2 pt. each .

48) Second, eac%’f@hich Magicam had identified as an adjective in the prepositional

phrase for each yea;;fwas nothing of the sort, but rather a pronoun or determiner.

25’ {&w‘”{“‘u!l £
IDENTIFY THE FIRST CLAUSE: LWL

NAME OR DESCRIBE ITS FUNCTION: ﬁ @) [ €6t
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49) AndEecause year in that same phrase was not a modifier either, but a noun

complemengthe entire phrase was necessaw@zspit how Magicam might argue'j>

T
IDENTIFY THE FIRST CLAUSE: i}\,}w Qt AT E

NAME OR DESCRIBE ITS FUNCTION: /? éj) Ve ( ’ &Q { &-Q

IDENTIFY THE SECOND CLAUSE: 5(// b O wli [

!
§

£

‘g’;f"@gﬁﬁ}g“‘w) \»@ S Pfﬁ
—t

X 1; Ya
NAME OR DESCRIBE ITS FUNCTION: 1O U N o @%«)%“ e j

50) ETthough he had already undermined Magicam’s arguments to his (and his law
firm’s) satisfaction,{Lloyd could not resist commenting on the inelegance of a sentence
&nch read,|“The beneficiaries will be given an annuity worth for year of lifeﬂ j

Sobeed wite

«

IDENTIFY THE CLAUSE:

VAP { e
NAME OR DESCRIBE ITS FUNCTION: {2”:} v gl & Lo

e {w’i«ﬂf

IDENTIFY THE SECOND CLAUSE:

%
L “:E [
NAME OR DESCRIBE ITS FUNCTION: f? {;\:%

FOR AN EXTRA 2 POINTS, IDENTIFY THE FINAL CLAUSE:

Subpad nrt

[

NAME OR DESCRIBE ITS FUNCTION: /\'[ ool 3 Q @
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51) Grammar was a rough gameiwhen money was involved.

T aln o
ﬁi‘:ﬁﬁ? @@g IDENTIFY THE CLAUSE: "%é@“ &:\@”5 [M// {? 5{ i f}iv‘f “Y

40bnn d, o
M » NAME OR DESCRIBE ITS FUNCTION: A

i L ) 7

52) Lloyd’s share of a winning verdict was a cool one percent&hlch translated to

$48,500. j

IDENTIFY THE CLAUSE: Pﬁ (i&%\ vl

‘ NAME OR DESCRIBE ITS FUNCTION: ﬁf \) '

53){ Even if the case was losahe would be paid his retainer fee of $300 an hour,Eecause
the firm of Kowalski, Larkin & Zimmer needed his expertlsaelther way he would
make surq he ad food on the table tonight.

IDENTIFY THE FIRST CLAUSE: 5 bor {j‘}e e fY j&

i)
Ay 4y
fBvefige {

NAME OR DESCRIBE ITS FUNCTION:

ey 6 \ NE o3 r”g;
IDENTIFY THE SECOND CLAUSE: 5\/{) b Gy A I 1

NAME OR DESCRIBE ITS FUNCTION: /j ﬁ Veddiall

(see next page; there are 3 clauses)
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e

IDENTIFY THE THIRD CLAUSE: Souboad i [{E

NAME OR DESCRIBE ITS FUNCTION: ﬂQ unt b} D &

54) Er:less he got very lucky or the case settled out of courﬂhe would have to wait till

the end of the week at least to learn the verdict, E;lichever way it turned outj

IDENTIFY THE FIRST CLAUSE: ~§ Ub@(éémjﬁc i
NAME OR DESCRIBE ITS FUNCTION: /4(§)\/ ef Li“ ﬁﬁé
i atw%'\ =
IDENTIFY THE SECOND CLAUSE: }?@(i “WE
y
' Ad ec {wu[)
NAME OR DESCRIBE ITS FUNCTION: Ve g CO WA~

0) JE e

55. He didn’t mindE&icause he liked Boar’s Head Pub,where,E it turned out,\the beer

was cheap and the conversation quite good. j

S0bvad whie

IDENTIFY THE FIRST CLAUSE;

{y,u; “ f[{ 7 hﬂg
NAME OR DESCRIBE ITS FUNCTION: £ ff}} S e el

IDENTIFY THE SECOND CLAUSE: 25}5@?’;’@{ fZA{/ ﬁé{; ﬁé%(}%ég}ﬁg QJ‘} @

NAME OR DESCRIBE ITS FUNCTION: /‘? % )? C;@ W’“@

5 [} ALY 3 af Bt £
IDENTIFY THE THIRD CLAUSE: SR P ‘f% [

< )
AN éu{i
NAME OR DESCRIBE ITS FUNCTION: ﬂ é\f (0

Fall 2013 16



English Language & Grammar Name

3RD EXAMINATION

Circle the correct pronoun. 1 pt. each

56) At the bar, Lloyd struck up a familiar conversation with the barmang b

QW St BEAY
e thought was more than a decent hand at grammatical parsing.]

v

Ha . A»&)
57) “Who/@dld y(i c ,wa‘}on todayjasked Frank @/wlikﬁn stood behind
—

the baarubbing spots from the beer mugs.

S A

a shark ate, but{ Wi?ém is

ébing to make nearly 5 million for his bad luck.” :

58) “A ninety-seven year old sail makerg
4y »

VII. EVERYTHING

In the following sentences, answer the questions posed below. 2 pt. each

,i’é?
59) “Wel;&look@; you're still the hot shot forensic grammarian, then.”

a. Identify the subject of the main clause in sentence 59; b. identify the part of speech of “like”; how does it
Sfunction?

Tt
e LT v & S0boedi AT é? @ww‘wﬁw
if«wéf“%w S50t 8 rommel %M ”f’% J\éﬁ e i0vefeqanf

, 3 k/
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60) “Cut the crap, Frank,” replied Lloyd; “Throw me a good sentence.”

a. Describe the function of the noun, “Frank”; b. In what way does “Cut the crap” function with “replied
Lloyd” in sentence 60?

L§
[t
{f&;:» -

a.

7

; - O o
Dwecl addwess, \“‘fﬁ&l}ua L fAeeepls d v arsuta
¢ ”

61) Frank gazed thoughtfullyéz)wn the length and breadt%of the bar and then spoke.

Identify the part of speech of “breadth” and explain how it functions in sentence 61.

NNy \][é:)g A N7

Hud e

e kf@? Prefi 4 "@i““}%‘ﬁ
S

62) “The barman was given a lovely, fat tip.”

Explain how “lovely” functions in sentence 62.

\ 7
- g :;; T &\ fé’% } s .
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63) “Ah, the mysterious use of a direct object with a passive voice verb.”

a. Explain what Lloyd is talking about in sentence 63; b: turn sentence 62 to the opposite voice.

3
¢

TL; P e é M Sﬁfyfﬁé@ff‘fﬁﬁ 50U i}\geé
g%\ peut A0 D :}) e ji he

Q_

b. [Sentence 62; opposite voice] Z / o 4.5

lely, 44
7/ /

64) “A happy ending,” said the barman, “if we can find that generous tipper.”

Turn sentence 64 into the opposite voice.

65) There was a qulet pause\:c\hroughout the bar. \%

Underline the complete subject in sentence 65.
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66) “Here you go,” said Lloyd, draining his beer, standing, then flipping the barman a

fifty; “Keep studying.”

a. Identify the part of speech and function of “here” in the first clause in sentence 66; b. identify and
explain the function of “flipping.”

> Ao verk

,5;’_ ‘,S? e he {
N I e “‘\;’;ﬂf ey [ i
Wi y \ ; I?J/) g

0,
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Extra Credit

Having decided E}:at he had had enough work and beer for the da;\:leoyd walked from
Second Avenue to Front Street;ﬁlich was bustling at six-thirty on a Tuesday evening‘jé
Eren though snow had begun to fall and the wind, which whistled along the riveawas

quite chﬂaSquashing Magicam once again was not quite as exciting as last month’s

case of “Murder by Pseudo Subject,” but it was more lucrative for sure.

In the sentence above, place brackets around every dependent clause. If yoﬂ see anything interesting,
comment below. 4 points.
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